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3. 3 [Option ID = 3919]
4. 4 [Option ID = 3920]

88)

i g1 e fgarer & -
FAL:  F WO G 3w, 9o TR A O R 5 F | S e O e 98 e o 1 5

w99 11

A0 A ST WA i

ATE o TewE A # s 1 afa fHEE A 2 w wewEr 3 56 GErawE g g
i B |



TEATST AT 3 A | Tl 1= 5315 hed] | T8y Oel 39t ool

(1) = 131 %29 1139 &1 &

(2) W 131 %o 11 3H e &

(3) YA IHEl 2 9o A 11 7esd 2

(4) =9 I7Ted 2 oo wuT 1T 2
[Question ID = 981][Question Description = Q88_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3921]
2. 2 [Option ID = 3922]

3. 3 [Option ID = 3923]
4. 4 [Option ID = 3924]

89) 41 g wum famrr 2 -
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(1) = 1o %A 113 o8 2
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4)  FvE 17ea 2 um Fue 11 a2
[Question ID = 982][Question Description = Q89_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3925]
2. 2 [Option ID = 3926]

3. 3 [Option ID = 3927]
4. 4 [Option ID = 3928]

90) = 71 FvA fearEn ﬁ, TS 3@ 99T Assertion (A) 37 Tsﬁ A% Reason (R]% :
AT (A) : FregE T ufEm 1 fEEw g at smw gt O Gl off wew | g § s 9= w9 w1
SIS~ ARl T WA g 9 o 1 WiEar U ST - e w |
g% (R): dar=® &9 4 df §ed @sg 3 Sigie (et g qor for sora a7 ° s ey O g {2, s
T F I THEHRT T |
fearst o1 3 =3 1 A 9 f@Ee fowew | me adt s g
(1) (A% R) I 58 2 31 (R) G (A) T =8 gemi g3
(2) (&) eF ®) I T 2 R) G () T =8 gorm f 53
(3)  (A) @& 9o (R) T 2 |
4 (A)TeEd 9w (R) TE 2 |
[Question ID = 983][Question Description = Q90_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3929]
2. 2 [Option ID = 3930]

3. 3 [Option ID = 3931]
4. 4 [Option ID = 3932]

Topic:- 43Rajasthani_B

1)
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[Question ID = 984][Question Description = Q91_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3933]
2. 2 [Option ID = 3934]
3. 3 [Option ID = 3935]
4. 4 [Option ID = 3936]

2)

et feremis a3 e | e 99 =9 g AfsArst wanen ' g fawen w g we e 9o
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(3)  TEE (4) wEmel

[Question ID = 985][Question Description = Q92_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3937]
2. 2 [Option ID = 3938]
3. 3 [Option ID = 3939]
4. 4 [Option ID = 3940]

3)

Hrt foremte a3 A g g1 9 =1 g AfsArst A @ fare fawen wm g wd e 3o
T § IEE SEeEt T A 2§ Fz ffe | o S oavit fereht, eoft @ e wifew @ anafie,
Al W EREY e T E § Al o 5, 999 A A5t $2i w | A 9 S et 0 € we
i = A TEs T8 T A Aiensd | TS 1 2 1 S Fe A4l or A WW % Wl @0 O q3Ee,
TG, WA AT A7 TS T S g Rt it | dE e 3 et i @ | snen e T e
U SATEY H W3l Gt § 90 Ee AvE! H SAfedt FSt % s Aral § ue L gl g urd seat S 4w |

T T T gAe FOEt F2 At 9wy | A e

(1) TH3d %2 (2) Hel F2
(3) T2z (4) A=A FE

[Question ID = 986][Question Description = Q93_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3941]
2. 2 [Option ID = 3942]
3. 3 [Option ID = 3943]
4. 4 [Option ID = 3944]

4)

et foreats aam 3 w9 | ved v 91 § q5Arst Haren #rE fears fawem 7 g /g e g
W SEH AT T AT 218 O S Fofis | st e avit feodt, aoft ww Sfe Sifem 5 Aafe,
SV WA e S SR fEw § et 2 v, YU T S5 Fe 5 | a3 S fafen @ d we
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[Question ID = 987][Question Description = Q94_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3945]
2. 2 [Option ID = 3946]
3. 3 [Option ID = 3947]
4. 4 [Option ID = 3948]

5)

Hr=t oty waam 3 w9 | ved w1 31 § A3Arst waren #rE fers fawen w g @ e 9o
W § IEE AT AT 218 O S Fois | st e avit feodt, eoft ww e S § Aafe,
S W e S i A e =, g A s g = | A e e
TG, WA AT A TS T S g At i | #E e 3 faee i @ | sen e v e
IR AR | H3l 5t § 90 e AvE! of wfedt st % sw A § o 1 el g w9 Faat o A #w )

30 T 1 gEe Sfe FifEe § e’ O eawy 2o

(1) W7 3 |k § = (2) ot ¥ BT 9T AT
(3) = T S it (4) g ==t g FEt

[Question ID = 988][Question Description = Q95_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3949]
2. 2 [Option ID = 3950]
3. 3 [Option ID = 3951]
4. 4 [Option ID = 3952]

Topic:- 43Rajasthani_C
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[Question ID = 989][Question Description = Q96_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3953]
2. 2 [Option ID = 3954]
3. 3 [Option ID = 3955]
4. 4 [Option ID = 3956]
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[Question ID = 990][Question Description = Q97_Rajasthani_SHAAN_NOV20_shift1]

1.1
2.2
3.3
4. 4

3)

30

(1)
(3)

[Option ID = 3957]
[Option ID = 3958]
[Option ID = 3959]
[Option ID = 3960]

i foredis a4 I g gean 9 97 g Ai3Arst ware A fears e me g wd e gt
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[Question ID = 991][Question Description = Q98_Rajasthani_SHAAN_NOV20_shift1]

1.1
2.2
3.3
4. 4

4)

=07

(1)
(3)

[Option ID = 3961]
[Option ID = 3962]
[Option ID = 3963]
[Option ID = 3964]

o feedts amEam 4 I g ggar 9 97 1§ Ai5Ars) waren A e e me g wd e gt

TETE gEE U UE G ge § wEal (T U sEia wE | Oas % S STEell SRy s B 7
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[Question ID = 992][Question Description = Q99_Rajasthani_SHAAN_NOV20_shift1]

1.1
2.2
3.3
4. 4

5)

[Option ID = 3965]
[Option ID = 3966]
[Option ID = 3967]
[Option ID = 3968]

o feedts amEam 4 I g ggar 9 97 1§ Ai5Ars) waren A e e me g wd e gt
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[Question ID = 994][Question Description = Q100_Rajasthani_SHAAN_NOV20_shift1]
1 [Option ID = 3973]
2 [Option ID = 3974]
3 [Option ID = 3975]
4 [Option ID = 3976]

A W N -

Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Worlkforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrbution M:F)
Service (SE) 15% 32
Sales (8A) 12% o 3
Construction and Maintenance (M) 9% H:4
Professional (PR) 18% 87
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% 3:6

ffafed oifers @ fa=m fifse f5om o 57 oo =8 4 oFm = fafim aaf © 9 % s =1 afem

(%) faaem un ge9-afeen FEaa aqae @ T 2| B & % Hel wEed i HEE 80 og 2
A= | 20 U TS F SUW W U9E % 399 A

a7 (%) oo | Ee-afeen o 9m ( T: 9 )
T (vE 3) 15% 3:2
H7H (TH T) 12% 5:3
it #i srgeam (o) 9% 5:4
TrFTEe (W) 18% 5:7
TeE (TH T) 21% 3:4
IeareA 3 ufEE (d &) 19% 538
a7 (=1 ) 6% 316

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

Teft &= =1 T gE FEEe i oA S o 27 (Z9Eed % g i )

(1) 6.3% @@ (2) 4.69 @@

(3) 5.96 =g (4) 7.48 @@



[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
. 4 [Option ID = 8028]

A W N -

2) (Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 22
Sales (SA) 12% Hez: 3
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% FFa
Others (OT) 6% *h

FefetE A W fa=m fifse f5em o 57 50 99 3 T = T g § e % w5 e
(%) faam a1 gEe-AfEen FEEe wATE gmE T 2| @ & % Fe wEed F e 80 o Al
AT | T30 70 AR % S9N T U9 F 39 A0

wferorE (%) e | ger-ufeen wgE (709 )
a1 (uF ) 15% 39
ey (ug ) 12% 5:3
fmior 3R srEEm (i ue) 9% 5:4
mHTEE (i #w) 18% 57
T (TF T) 21% 3:4
JearEA @ it (fF #) 19% 518
¥ (=7 7) 6% 3:5

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?
(1) 330% (2) 318%
(3) 320% (4) 80%
g § St S & ° e afeen e i $e Gen H ug e ° Heig gey wEe 6 e w5

(1)  330% (2) 318%
(3)  320% (4)  80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1 [Option ID = 8029]
2 [Option ID = 8030]
3 [Option ID = 8031]
4 [Option ID = 8032]

A W N -

3) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforece of India in different emplovment sectors during a given



vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector Worlkforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (S8A) 12% B 3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fr
Others (OT) 6% 3D

frafafes aifes = fa=m $ifse f5om o 57 5o ad | 9w = fafim & & e & s =1 afam
(%) faamo Fun wEu-ufgen FefEa wAoE S@r e 2| '@ @ % Fe Feiee f e 80 @ R
FifcAeT § 23U 0 aT7s] F oUW W UvT % 39 aifan)

WA & FHEee 1 S99

wfeore (%) feeeor | geq-wfeen wigam (g9 )
a1 (TE 3) 15% i
Ty (ug ) 12% 5:3
fomto i argeemn (o ) 9% 5:4
TrpeEe (d #w) 18% 517
TaE (TH T) 21% 3:4
Ieara 2R i (4 &) 19% 5:3
W= (=7 7) 6% 3:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH U 3R UH U S § HEd U5 wEee S @l W A A9 6 e HEee $ fe Je & a@nen
feran wfcwa 27

(1) 82% (2) 87%
(3) 29% (4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1 [Option ID = 8033]
2 [Option ID = 8034]
3 [Option ID = 8035]
4 [Option ID = 8036]

AW N =

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Worlkforce of India

Employment Sector Workforce of India

Percentage (%) Ratio of Male to Female
b i R, DO (T L AT . T



LA lobl IR LLIALL favd o L)
Serviece (SE) 15% 22
Sales (SA) 12% Hez: 3
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% FFa
Others (OT) 6% *h

FefetE A W fa=m fifse f5em o 57 50 99 3 T = T g § e % w5 e
(%) Taemor qun gea-ufEen HEee 9 g T 2| '@ & % Fel wEed 6 ae 80 @ 2
AT | T30 70 AR % S9N T U9 F 39 A0

wfeerd (%) faaor | geu-aen wgoe (79 )
Tar (g ) 15% 3:2
H7q (T ) 12% 5:3
fmtor =i sEm (o) 9% 5:4
mHere (i 3m) 18% 5:7
TaYF (T T) 21% 3
Jeargs A ufme (&) 19% 5:3
a7 (a0 #) 6% 3:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

UH U AN UH U aE § HEitd afeen SrEee $ $e g A 6 f & | weg afgen sEee S gen w6

(1) 5.1 (2) 7.5

(3) 5.7 =g (4) 13.2 7™

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1 [Option ID = 8037]
2 [Option ID = 8038]
3 [Option ID = 8039]
4 [Option ID = 8040]

A W N -

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1z 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: P
Service (SE) 15% 3:2
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% b:4
Professional (PR) 18% b: 7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 553




| Others (OT) \ 6% | 3:5

frafafiaa mifea @ fomm Fifse f5ow o 52 g ad | Torm & ffew &9 § 9w % Fees & afaea
(%) faamo a1 pEu-ufzen #refEe wqoE g@r e 2 @ @ % Fe Feiee f e 0 @ 2
alfer # 27 0 sAihgl & AYR W U % 3 i)

™ r ) x
TR o FEEe H1 AT A

i (%) faqer | geu-aizen 3o (79 )
T (TE 3) 15% 3:2
ey (TH ) 12% 5:3
fmto =i srgeam (o) 9% 5:4
TFETEe (f 5mw) 18% 5:7
TaE (TH ) 21% 3:4
IearaA aff uftE (f ) 19% 5:3
a7 (= &) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17:39 (2) 16 : 37

(3)16:35 (4)16: 39

of vw & | wEd afEen wEwe S g A d 9w va o F sl d S gey wEde $ Fe gE w6

I R
(1) 17:39 (2y 16:37
(3) 16: 36 (4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1 [Option ID = 8041]
2 [Option ID = 8042]
3 [Option ID = 8043]
4 [Option ID = 8044]

A W N -

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

HEAA = 8 T ¥ G TR FaR 31 G591 F T8 T AR 6 e W W] 87
(1) &+ (2) 3T T
(3) HWHTER (4) T T =R

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]

1.1

[Option ID = 8045]
2.2

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?

(A) Self efficacy

(B) Planning

(C) Locus of control



(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

ffatiad Fo gafg dems auaa §f g9 @ e s gadt fafim ot & mem 5 fafea G
T B| 3% G0 W AR SEA i GHA 3| 396 ° HE Wi AEa SHawn SHEE % S A 8 7

(&) TeH-FEa ()

(B) e

(C)  Tm=w i wfeafd

(D) =

(E)  =dEar

= fau o fasew § | wEl 39 1 =9 FirAw

(1) () 3 (B)
(2)  (B) 3R (C)
(3) (D) =N (E)
(4)  (B) = (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (I) Using Swayam and Moocs

(B) Open and distance learning method (Il) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(), (B)-(1), (C)-(1), (D)-(1V)

(2) (A)-(11), (B)-(IV), (C)-(1), (D)-(I1)

(3) (A)-(1V), (B)-(lD), (C)-(I), (D)-(I)

(4) (A)-(I), (B)-(), (C)-(1V), (D)-(1lN)

Fei-1 = w9 G111 faerm i) geit1 9 5= e seonst | foem i fafeei 6 02 2, s=ts g
11 % st fafemt i womsfem aem 1 a5 41 18 2

EsiB! 11
foreqor =i Tt THEI A WG i aFA
(A) HAHA-TEA i FAAERAeR i (I) ¥599 37 g7 F1 T4

(B) T 3 gradt sifermm fafy (IT)  sAfishfaa sEemTo= 4=

== ES £ g gt - =3 a



(C)  TRIE9T =Rl =R T (III) HEFT HASTTeHH HHUT

(D) oz it sriFemss fafa (IV) ufe=t = ara-wry e oo

Jrr fou o faskedi 4 @ wE 3w w1 ==a e

(1) (A)-D. (B)-I), (O)-(II), (D)-(IV)
(2) (A)-(IIT), (B)-(IV). (C)-(I). (D)-(II)
3)  (A)-AV). B)-(ID. (O)-1D). D)-T)
@) (A)-ID. B)-@). (O)-V). (D)-(II])

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (l) and Statement (Il) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct

F97 (D) : IUATSE AT ATTEHAT T F WA % F7E TR Ih gFar i S =
Fu7 (1I) : T SAfhed TAT W WAdE Athdcs Wi wETdEl & e s"en 9 o

AT 7 % TEEE W AW e A A
W FUA AT |, 4 70 e 8 6 weE 39 I R =9 S

(1) =9 (1) =0 (ID) 21 =8 2
2) = (D) 3 (1) 391 T 2
(3) = (D)= 2, @ FoA (1) 7= 2

(4)  =ya () e 2, 9T 97 (0D 78t 2]

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2 v fau o 2w afgeE (Assertion A) w9 | fefigd # i I 3u F0 (Reason R)



wfiEpe (A) o A anygfree sfi g @ A smaE geEE gl = Al s st i
F1 T2A9 FAA 2|

FA (R) et warlt foveror werAT ot = st afiferten § gaw & @y w3 e S
=tET|

I HYH & AT °, 4 2 e e | 9 gd 3 o 999 it

(1)  (A) 31 (R) 3H1 5e9 & &1 (R), (A) 1 w8t =5 2|
(2)  (A) F(R) 31 Te7 8, wiA (R), (A) Ft oet =g == 2
(3) (A @™ 2, &% (R) 378 2|

4)  (A) 3@ 2, A (R) &7 2|

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

TF| TR % TE | UHET-uiues = aeEtEd e S E v

(1) T T (2) ufETfEE Ty
(3)  =AEEEE WY (4) TETEEE Ty

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

it i faeeht aftord =1 af sifagie =21 afe = = 4 a2, e A et § @ e e
1 THE FUFE 2 7

(A)  Taaooness &g

(B) TR fafa

(C) = &t

(D)  tfferfe fafy

(E) =amarss f&3ra

=1 f2u T AT § | wE I F = FIhA

(1)  (A) #1 (B)

(2)  (B) #H(C)



(3)  (C)=m (D)
(4) (D) 3R (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List I  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1n), (B)-(1V), (C)-(I), (D)-(1)

(2) (A)-(), (B)-(1), (C)-(1), (D)-(1V)

(3) (A)-(In), (B)-(l1), (C)-(1), (D)-(IV)

(4) (A)-(I, (B)-(1), (C)-(1), (D)-(1V)

-1 = w19 g=-11 1 fiem Fifae) g=t-1 8 w9 & =20 950 2, @06 got-10§ 9 g 9gw T E

7=fi-1 T=h-11
Y = = T # A AHaTE T
(A)  =EE g (I)  =TFRS! =1 BRI 31 6 T
(B) ufmewn fmim (I1) == Te T2 & 3HEA1 H 0
(C) wiee=a uiew =1 =91 (III) =/ % &% 9 5 999 23
(D) =TeT fagem (IV) =119 % =01 & = gey Td F70

i 3w o faskedl | | @@ 3 W =EA Hif

(1) (A)-(III). (B)-dV). (C)-(II). (D)-(I)
(2) (A)-(D. (B)-D. (C)-(IID. (D)-(IV)
(3) (A)-(II), (B)-(IID), (C)-(I). (D)-(IV)
4) (A)-(II1), (B)-(I), (C)-(II), (D)-(IV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (I) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

e 31 e fow e #

Foq (D) : UF TY-TEY AN WE-T3 § SE o1 HeA % ey ofR el % e e war 98

G

F9F (II) : o1y weHt AR 3 TE e wdt Al & fore sfEd 2



IR HYA % AT, A 3 e Gl | ® wE 3 99 i

(1) = (I) =71 (1) 21 a9 2
(2) = () 3t (I0) 21 27eeg B
(3) = (I) |9 2, @i e (1) 180 2

(4) =9 (I) 9@ 7, witFa e (1) 70 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

I =1 F99 fav 0 £ ;. v% wfiF9A (Assertion A) F %9 | fafiEa & @ ZE 39% #70 (Reason R)
FETH :

AT (A) fepelt =i gfeewr (Ha) =1 Feeseofie afimesn (Ho) =ht gemEar o qiiam fan s
E’H 'T_'[al
F (R) : e afcweraT (Hy) 91 adamta #1 sifiafe @9 w0 3 53 5 1 w0 2|

IUIRE YA * AT °, = Eu e fameul § 8 weg 3ugw I 99 i

(1) (A) &7 (R) 31 581 # =1 (R), (A) F 78 =30 2|

(2) (A AR R) IA HE 7, A (R). (A) F HE == w5 O
(3)  (A) W@ #, wfFA (R) 5l 6 7

4) (A T TE 2, 9 (R) TR B

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

A T TR e A T 0 T freataten # 1 G oty w e e e
(1) 30 ==t (2) 307
(3) 15 Fga (4) 15 7F=%

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu



Toher ETETTE 1 udiER-Ta=s (S0T) "Let truth prevail" 27

(1) f3=emia (2) 2T3TH SIF SreA
(3 fzfemm (4) I3

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

dr= 31 FuA fag 0 2 ; oF wfiFus (Assertion A) % ®9 ¥ fufiw ® 1 55w 35F FE0 (Reason R)

AR (A) Al TERY (FT5Fre) STUETHT AfaF TR S TARE 7T &, Ty A8 Sisa
1 7% W TEE THE 92 T 2

F (R) T2 TET (Fiswn) s ® asE 21 # o g 2
U HYUF | A °, S 50 e e § 8 wey 39 S O 99 Fian

(1) (A) 3R (R) 3 &E 2 3R R). (A) F1 w1 =0 |

(2)  (A) 31 (R) 341 @& 3, &l (R). (A) i 9281 saren F8 2
(3)  (A)wE 2, = (R) BE A9 R

(4) (A @ TE B, AR (R) WA B

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

SHEET #F 39T T =g AET T AeEties R TR O T TR e 9wt aned 5

(A)  wErE Tagm At i ama ) me e F e

(B) == w19 FoiHal 19 % |19 9E 34 o)
(C)  arEfrEm it foen gonel = = waE & T

(D) == gmon wH * fore & difem = gee v i w2



Fra fou o faedi © @ gEE IUFF I 1 T AT
(1)  =a« (A) 317 (B)
(2) =& (B) 31T (C)
(3) =& (C) # (D)
(4)  #a= (A) #R (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

=1 4t 1 g 4 T mEww A meEeE e w= fata fif)

A) T

(E) =IH =19 20

Hi= fou v faweul # @ w8 3 %1 999 iAo

(1) == (A), (B) 31 (C)
(2)  a (B). (C) =1t (D)
(3) = (C), (D) 3 (E)
(4) == (A), (C) ¥ (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family
(1) Rs. 3,000/- (2) Rs. 4,000/-
(3) Rs. 5,000/- (4) Rs. 6,000/~

T 99 o 20 U UHET R S HIeR o0 U9 3 HeAl | 4000 R, SEh ATH 4 HEAl 9 4500 T

s #Afam s 9§ 5000 T 91| 32 3@ M F A FA =G 5000 T A 91 39 ufaw A stEa

arfer w1 ferat i ?



(1)  3000/- =54 (2)  4000/- ¥

(3)  5000/- =5 (4) 6000/ =

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 ® 90 # == # A4l FuTy "EmE = A Ed 9qn -

(1) 765 (2) 08.25
(3)  55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% =N 33 S 39 g9 W 11 e g9 W fawa gem % ave @ AfHq war v Gfowa 1§ e
QQ

1) 25% (2)  50%
(3)  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

7tz foreft a5g 1 =vTa go7 =EE fawa gea = 95% 2 at =g =i afdwEar #= a7

(1) 4.26% (2) 5.26%
(3) 8% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/-  (2) Rs. 2,000/~

(3) Rs. 2,080/- (4) Rs. 1,560/-

Iz =g =t Tt =g 1 25% ufawd i =16 @ 39 1200/ - #9% ° s=a1 2 & 30% 0 " FHH *
fou 58 77 =g =t fem Fma W s= =ifET e

(1)  1600/- =73 (2) 2000/- ==
(3)  2080/- =W (4) 1560/- =%

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]



1 [Option ID = 8121]
2 [Option ID = 8122]
3 [Option ID = 8123]
4 [Option ID = 8124]

A WN -

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

T RATE 29T § WA w0 Fefatad § @ wiE-A 9 e 95 w9 9 F wy aEa w®
eI 27

(1) =3 (2) AN
(3) FUHH (4) :ﬂgqaﬁs'x

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

A TREITE o ATEN SN T WH | ST S wE e R

(A)  TaEme fawm @ sgmEe i wHEa/aEsar # w9 (3999)
(B)  wwon = w9 (%9)
(C)  ifiyemon = fagl = =u o gfe (fma)

(D) aAfqgmen =1 F9F (wfa)

(E) Tafes fam =1 sgmm 24 (3gmmn)

et o famedt & @ wE w1 =A i

(1) (D). (E). (A). (C). (B)

(2) (D). (C). (B). (A). (E)

(3) (D), (B). (E). (A), (C)

(4) (D), (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) WWhich of the following schools of Classical Indian Philozophy reduce Sabda pramana

(verbal authority) to inference?

(A) Navava



(B) Valsesikas

(C)  Buddhists

(D) MimaEms®

(E) Carvaka/Lokavata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
(4) (A), (D) and (E) only

e YA A9 i FBHE-E HEEE 952 TH H SGEE o AT el 2

(A) =M
(B) duif=m
€ g
(D)  mEn

(E) =i/«

A= 2w Tu kel | © @Rl 3T 1 = ST

(1) === (B) @1 (C)
(2)  Fa= (B). (C) 27 (E)
(3) e (B) 1 (E)

(4) a9 (A), (D) # (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (Il) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (I) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

Hr=1 3 A 2w #
e (D) : T AR T % A SRS FE @ w6 % e ot 2 2
Faa (1) ks WA 97 a1 gl 2 5 =6 5| uen 8 e s @i afew e 98

qaTdl 2 75 29 8 @TAE e 2
IRE FHUA F A 9, T B0 FEeT 5 " g 39w 99 i

(1Y =99 () 537 (11 297 T3 2]



(2) = (1) =0 (ID) 2T =15 2
(3) =9 (1) & 2, =R w9 (1) 31597 2

(4)  FyF (1) 39T &, dFT #9F (1) 53 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (l) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

g1 % =y g=-11 1 faam Fifs)
F-1 FAT-1I
T = LETIED!
(A)  FAfraron 6 wariE & w9 9 gfe (Iy =&l g1 war & 98 A0 Bl 8 od Wigat
|
(B) =m0 T FUA (II) WETE W A R
(C) fafza Fm =1 =2 = (IIT) @ T=rE o 7 2|
(D) Tiaa 1 SaTe ST #= w9 (IV) @it & g1 2

= fau U feekewt | @ wWE 3T w1 = i

(1) (A)-(I). (B)-(IIL). (C)-(IV), (D)-(1I)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(III), (B)-(IV). (C)-(I). (D)-(II)
(4) (A)-(ID), (B)-(1), (C)-(ILT), (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF aTE A FOA A B B F UF 99 e F ower W m fn 2 S wn e o wed w2
S fuae Sueia Aisdt #i AU HE § D12 3 999 § FH 2|

P

(L) PR (d) (2 =q-tgEa
(3)  Hifers w2 518 =E4 (4) U= di g1 e



[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 71 =we fau e 2 ww wfiEeE (Assertion A) ¥ w9 H fefiad & A I I9% F0 (Reason R)

W ETH

aF (A) e HTHT AT el § U AT i AT w9 8 g /e =)
F1 (R) : T H Fege 'Y dN W A H HaE 6w A |

IO FUA T 4, 2= B2 famer 1 | wE 39 1 == i

(1)  (A) 3 (R) 31 o3 7 &1 (R). (A) Fi1 =&t = 2

(2) (A 3R (R) 3 A &, dF7 (R), (A) Fi =&t = 7= 2
(3) (A =ed 2, & (R) 379 2|

(4)  (A) =@ 2, @A (R) 97 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

T 9¥ W geW I ARl & w6 ° HEfiige @e e % wE w8 $H g S
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 & Bytes

(D) T Bytes

e fou o ket 9 @ wE 3w =1 = Fifu

(L (D) (A (©). B)
(2) (A, (D). (©). B)
(3  AW.B.©.D

Ay Ty O™y fAY (B
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[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (ll) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement () is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

A % G99 H (AH0 sy SR aE-TE el gel |, A 2 e 5 e F

w97 () : TE—FT Fl 77 529 H F9 =l 2
w97 (I0) : AE-FTE T WA W Sy il WA FA SAIE A T H T AT w2

it i el o 0 1 A LU T e = B o e 2 e o e T Ll

(1) == (1) =i dI) 341 a9 7
@) = (1) 31 (11) 3T 2/ 3
(3) =W (I) A 2, =T A (1) 99T 2|

(4) = (1) 8eF &, wiha %A (1D 967 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List 1l :

Teft-1 % @ g=-11 o fae Fifm)
-1 HAt-1T
(Frge aiaTT ) ()
(A) OCR (I)  Z0ha =1 Eafeligd SeamEsl 1 Th FH o
fere g = 7l
(B) OMR (1) wz-Tommedt wiemanl 8 o we= % & fan
(C) Email (IIT) STHA=T FegHeRe
(D) Instant Messaging (IV) =ETes FegHa

2 fau o fashedl | © wE SO w1 == Hiia

(1) (A)-dD), (B)-(I). (C)-(IV). (D)-(III)
(2) (A)-ID), (B)-(I). (C)-(IID). (D)-(IV)
(3) (A, (B)-(ID). (C)-IID). (D)-(IV)
(4) (A)-(D). (B)-I), (C)-(IV). (D)-(1I)

A atrh T3gf T wrtbh T e+ IT -



List I List IT

(Computer Terms) (Purpose)
(A) OCR () Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinations
(C) Email (III) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :

(1) (A)-(ID), (B)-(I). (C)-(IV). (D)-(I1T)

(2) (A)-(IT), (B)-(I). (C)-(III), (D)-(IV)

(3) (A)-(T), (B)-(IT), (C)-(ITIT), (D)-(IV)

(4) (A)-(D). (B)-(II), (C)-(IV), (D)-(I11I)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Fferfiga 3 & 991 TF HEE A HA A gy 27
(1) T FF SEAFEES 2) faense FeEs
(3) W SEsETES (4) #em

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frmfafaa § 9 FF-m o |59 g s # w9 A6 27
(1) I s (2) T S
(3) e (4) st

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

Frafafaa § 9 SH-H WTHfas e I agdl & A I9E SfEaE | 5 a2 7
(1) == (2) waTETHE e
(3)  HEmH (4) TFH

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]



2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

T T =i GEEE FE AieE % 52 § NMSHE Fefafad § o fhos g 27

(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy
(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

Trefted & 8 7 Tl 1 ToFs T9 5T & ST H1T Ferarg TiEdd T asa # 7

(A) B SRS
(B)  =orE 92 (PMas)
(C) =9 F
(D) TS

(E)  T5g| AFE1ES

4 f2u o fawedl © 9 WE 3 W =Ee FIA

(1) a9 (B). (C) 311 (D)
(2) TS (A). (B) 2 (C)
(3)  a= (B) #T (D)
(4) @A (B) 3 (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
3= foen & #2d 9, AEEE F=OR AEeg 5 i e § v agess dan 9 buifE e F o
Fr=fafas 9 | fa wde e /aeEa = Few fE a?

(1) g (2) wH e
fa = & T 4y TmaTE T e



[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; ; ;Listll

(A) NAAC ; ; () Delhi

(B) NIEDA ; ; (II) Bengaluru

(C) NDRI ; ; (lll) Lucknow

(D) CDRI ; ; (IV) Karnal

g1 = wre g=i-11 %1 fae Hifs)
gt geft-11
(&) TATTH I) fegt
(B) mRwEIET (1) ==
(C) wa F HAR s (IID) =E=+s
(D) i gt am ams (IV) Fame

= fau Tu feereal | ® wWE IE 1 = i

(1) (A)-(ID), (B)-(IID), (C)-(T), (D)-(IV)
2 (A)-AD. B)-A). (C)-AV). (D)-(I1I)
3)  (A)-IID, (B)-AD). (C)-). (D)-IV)
4)  (A)IV), (B)-(IID. (C)-(II), (D)-(T)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

7% fem Hify (w3 £ 1)-2020 4 w3 £ # s i T == = A 2| o9 e e e e E2

(A) TR d SEaE S FEEE 5 A0 e dmn e

(B) e =i HEFH &g WEIRTR % TEF % 5E9 § HERE % B SEE-99E ' OF 59 9091 A1

(C) =i WRATE TN F @ ¢ H el &g gRui Eeem # b w6

(D) W ditaEl, T AR T IEdT F &F ¥ ATaw gHieE B A w Bg A

(E)  foram atenfefi d sifg® o7 Seumme amars 1 Famr =



Al gl MG Idshed] H A gl STl =pl g =pilal |

(1) === (A). D). (B)
(2)  =aE (A), (B). (E)
(3) === (B). (D), (E)

(4) == (A), (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (©), (D), (E) only

fferfiaa # 5 FH-0 3-=famm 7= 2 7
4 =

(B)y W@

(C)  w=Fusn

(D) 2w

(Ey 7=

e fau o faskedt | | wE s W wme i

(1) =& (A), (B). (E)

(2) e (A). (C). (D)

(3) %= (B). (C). (D)

(4) == (C). (D). (E)
[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]

3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?

(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T TP F T 270 gF A4 2015 ® #ad fawwm |em-4 ¥ geiad Fefatas 4 9 fe-m 95 amaen

T U1

(1) 377\ Tamweg 3R dgeed! (2) T faa

(3) TN I (4) TN TEER U STaEET



[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1 [Option ID = 8201]
2 [Option ID = 8202]
3 [Option ID = 8203]
4 [Option ID = 8204]

AN w N -

Topic:- General Paper_Set1_C

1)

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

TS 1 WEEHYEE Ug q9T 36 915 20 T e S 2

FHAFT TEE FHI(G5-19 TEMR 501 699 1 A4S d79F S G 3R g favag & an o wew
ot A 21 Tt @4 % wifom A 4 oEen 4 oot 339 % WY TE A HIrHEh i BISH TeaE
TEET B B 99 21 3 7 @ B9 4 10 9 oA SO 9 & g9 7 e gl aeEa w5 R #
ST SFEEAE S I TS @ 2| Wed TE WEEN WA e d FEl AGE 2, TE UH AYaqE
TETaER-AE w2 2| 29 W UeA® oAt SEE UWIEE B SE% SRRl @ ande S
(fadt) @ 7 w= 2 ff v T 9 TEE W T 7, WY 6 7 Y9 TR e 5eAR T 9w W
@R el ggai W ff 2@ @ 2 oA 77 Afvew umdm anfEen Faee # owd W f g e
A % ged ° e 9 T 21w G @ e St o o e w 2| 3 9 A TR afdete
w9 GEFE B wEed 9 Y 2 gdiE e o sieel # WHg-02 Wiel 9% §| SAaUUiE 99 @ @6
AT & T 400 fafema (40 =#ars) =i =1 e =1 @At 7| v s 7 wEE @ 2 e s A
g-Tmr (ifEeE) 9 110 fafeme wufef sen 6t w0 st see wfiome 2 % soo fafemm (so0 =)
ST Aot i St w0 g e g wwe A8 A e

The major crisis faced by the world since World War Il is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

fadi favargg = =iz fava = w=g o1 e 6w &9 4 @ 27

t‘l} _ = Y ﬁ\ (2} o N Fﬁ
(3) o= (4) T=TEEg

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]
1 [Option ID = 8205]
2 [Option ID = 8206]
3 [Option ID = 8207]
4 [Option ID = 8208]

AW N =



Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

T W AEGHEE U2 9T 3 915 5T T weT % 5 2|

HAFT = HI(F5-19 TEMR 501K 509 1 SYdYs d79% S g9 iR fga favag & e o mem
ot AT 21 Tt @d % wifom B4 4 ofEen 4 oo 339 % WY TE A9 HIHOH B BISH TeuE
TR B b 99 21 3 7% @R B9 4 10 9 S SO 9 T g9 7 e ol aeea w5 R #@
T SEEAE AF IS U5 W B| g A% FRWR TR THe § FE AGE B, T TR SO
aEfaw-AAEE wwz i 2| 29 W U ARG THE UAIES 2| 36 Al miEEs Ands Hn
(ferait) @ 7 o= & ft o T 99 T W R, Wy d 7 fave TR e & 5eAe @ u9e
wWrEe wedl ggg w1 A 2@ w1 2 9w g% afvew uedE st fEee % e W o 3w e
A=A % 49cd 3 e T 2| w2 o A and SAsfen ol arm e i 2| 3= T8 A B afiesfa
w9 GEFE B wEed 9 Y w6 gdiE wel % vleel #i WHg-07 Wiel 9% 7| SAaUUiE 49 e @6
HI9A 2 R 400 faferm (40 =#s) & i Ao w1 odt 21 fva @ 9 sgEm sen 2 B s
g-Ta (IfE2E) 9 110 fEfems i sen it w6 st see wfioe 2 % soo fafemm (80 =)
S AT i e g we § ged T8 e

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

wemrl 1 Fefetas 4 | fea & w awe T8 s 27

(1) = (2) @t
(3)  Fmm R wEA (4) FEER

[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

A WN -

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the

greatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last



vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic Tecovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 800

million people will not be able to meet their basic needs.

I W HEEHEE U A1 §H 915 148 T W I 3

HIAFT T FHF5- 19 TaME 201 059 w1 AYdYs 370w = g9 i e faveag & an o wem
oS A 2| fUse o % sifam 241 & uforn § sue 3299 % WY JF 9 FACERiH i BDISH el
TETET B g 2| O TF §@E F9 H 10 W S SO FH T 9 7R R AeEad w6 ORI
ST FAHEAE A 3F1 95 T8 2| Wed 9% HEMN| TR @he ° Hel HAuh 3, T8 UH YA
HETAR-ASF Gz S B| 29 W UAF A SHE UANGd 2| SE% [SHEREl @ETHE ATdE S
(ferarft) @ 7 w2 & ft o 7011 909 T = w7, W @ T fOve TR we & medm ¥ A9 1w
e gedl gegl w f 2@ w2 a9 37 dfvas AmdE e FEeE o wE w0 o g w s
THAE % Sed § e R T 2w 5T A e St o AE e w® 2| 3 T A R aiegta
w9 GEE B e WA g g gl % viee 3 wHg-te Wil S B SAaUsiE 49 E@eT w6
A & TR 400 fafemm (40 =s) <M =i ARl S @Rl B fava S A ATEE S 8 R os| A
w-Tau (ifedm) 4 110 Tafems smfeh gen i = s soe srfyoe 2 s00 fafe=m (80 #arg)
S AT S et g w § gued a8 A e

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

FH-T1 TETET HIS-19 H HH F7 TG 5T 27

(1)

(3)

e (2) I s
el (4) TZFRizHT

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]

A W N -

1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1s much more than a health crisis, its also an

unprecedented soclo economi crisis. Stressing every one of the country it touches, it has the



potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UNs socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and worlking under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

T ] WEEHEE U 1 T @15 EE T W H I 2

HIAHT ATE FIF5- 19 FEWRT 591 594 F1 AYayd 379+ = g% 91 fgia fveag & ar i wm
2 A 21 fme a0 * wifam 1§ ofin | su 33ve % WY O IE SRR B BIEH Tow
TETET B h 99 21 O OF @R F9 § 10 W S SO T T 99 7 IR aeEada #OAE #
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC
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(1)
(3)

UNDP (2) UNICEF
UN-GHEP (4) UNSC
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1 [Option ID = 8217]
2 [Option ID = 8218]
3 [Option ID = 8219]
4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHOQO, and the Global Humanitarian Response Plan.

and working under the leadership of the UN Resident Coordinators. Every day. people are



losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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